
°a 0»
9 9

STATE «A °B l«c

1 0 0 0
2 1 0 0
J 0 1 0
4 1 1 0
5 0 0 1

Fig. 31-9. Synchronous divide-by-5 up counter.

STATE Oa Oc

i 0 0 0
2 1 0 0
3 0 1 0
4 • 1 0
5 0 0 1

6 1 0 1

MCJ05OP
(l-l/*)CiJTSP

Fig. 31-10. Synchronous divide-by-6 up counter.
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STATE °A °8 °c

| 0 0 0
2 1 0 0
3 0 1 0
4 1 1 0
3 0 0 1

6 • 0 *

7 0 1 1

(I/4>C3000P
( DC3050P
(•-I/2JC307B

Fig. 31-11. Synchronous divide-by-7 up counter.

(l/2>C3050f»
(«-t/2)C307M»

Fig. 31-12. Synchronous divide-by-8 up counter.
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ClOCH

STATE s °c °D

1 0 0 0 0
2 1 0 0 0
J 0 t 0 0
4 1 1 0 0
S 0 0 1 0
6 » 0 1 0
7 0 1 1 0
0 1 1 t 0
9 0 0 0 1

(DC3020P
0/2)C3OSOT
(2>C307Sf>

Fig. 31-13. Synchronous divide-by-9 up counter.

$ °cf $ S’

-j 0 J

K
c
2

- > J 0 —

K
c
S

J
K c°

STATE “a °c °0

I 0 0 0 0
2 1 0 0 0
J 0 1 0 0
4 1 1 0 0
5 0 0 1 0
• 1 0 1 0
7 0 1 1 0

1 1 1 0
t 0 0 0 1

to 1 0 0 1

(l)CJ020f
(DCJOJOf
C2)C3O7J0

Fig. 31-14. Synchronous divide-by-10 up counter.
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